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1. Marian bought a new football helmet for $72.00. He 3. Which set of rational numbers is ordered from least to
received a discount of 25% off the original price. (6.4G) greatest? (6.2D)

What fraction or decimal i§ NOT fpquivalent to 25%? i 3 5
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2. Which point on the number line below matches both 4. Which expression is equivalent to = + = ? Am.umN
Keep Fup Choargc
statements below? (6.2B) _u.
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5. Joey’s mom bought Hm pounds of ground meat at the butcher

shop and separated the meat into W pound bags. How many
bags will she be able to make? (6.3E)

°q bags

Division
3

B. 5 bags I 2 - -.\Nl
C. 10 bags /\ID. 4
D. 2bags
J -1
4 4
x4 =7 FD@ <
[23 I

6. Which multiplication equation best describes the number

line? (6.3D)
3 2 _

- U ™ g \\nlnirr....f/.
cgat've _\ /
5% il ] L1 _<_ [ [ /,

| I | I 71 I t | | | | | | I | _ﬁ |
-16 -15 -14 -13 }-12 11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0
A 4x3=12
B. 3x4=12
roups O .~ﬁ
@-f&n-s 3 9 i . &
D. -1x12=-12 —- 4y

Morty has a piece of wood that is 22.4 ft long. He cuts the
wood into pieces that are 5.6 ft long. How many pieces of
wood does Morty have? (6.3E)

A 6 224 £t
® & | 2% “L

5.LFt) ,
C. 20 r
D. 9 5.4 un.fc\, Mm_pvr

Rachel created the model below to find the sum of 2 and -6.

Oui
g9 #poece
£ Robberg

f = _1

Which sum is represented by the model? (6.3D)
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14. Which expression is represented on the number line? (6.3C)
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15. Mandy asked 50 students in her school which fruit they
prefer. The table below shows the results of her survey.
(6.4G)

Fruit Survey

Type of Number of
Fruit Students
Apples 13
Bananas 25
¢ Oranges 12

Which decimal represents the fraction of the students who
prefer oranges?

A. 12 ) | 2 _
.NA 50 1O O
D. .75 /X'.v\,

16. Customers at an ice-cream shop took a survey. The results
showed that 144 customers rated the shop as being “very

satisfactory”. This number represents 45% of the total

number of customers who took the survey. (6.5B) hU ar wv H S

(orel)oF

What was the total number of customers who took the
survey? 0\

A. 189 :l_ E. N_ﬂ O
C. 99 ‘ %

: 4u g
320
320R xle/

17. Which list shows the temperatures in order from coldest to

warmest in degrees Fahrenheit? (6.2D)
Loasgest

A. -10°F, 8°F, -5°F, O°F
-5°F, -10°F, O°F, 8°F

@ -10°F, -5°F, O°F, 8°F

D. O°F,-5°F, 8°F, -10°F

smallest

A

100
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